Order of Operations
PEMDAS
P = Parenthesis  
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(Grouping symbols which are included as “Parenthesis.”)
E = Exponents

MD = Multiplication & Division are equal, so the Rule of Left to Right is needed.

AS = Addition and Subtraction are equal, so the Rule of Left to Right is needed. 

For example, which way is right?
[image: image1.png]12+-3 x2=12

=2 or 12+3 xX2=4x2=8




Using the Rule of Left to Right, division is done before multiplication, since it is first when the equation is read from left to right.  The right equation solution is:
[image: image2.png]12 + 3 Xx2=4x2=8




Other common errors:

3 + 4 = 7

-3 + -4 = (-1)(3 + 4) = (-1)(7) = -7

-3 – 4 =  (-1)(3 + 4) = (-1)(7) = -7

4 – 3 = 1

4 + -3 = 1

-3 + 4 = 4 – 3 = 1

3 + -4 = (-1)(4 – 3) = (-1)(1) = -1

-4 + 3 = (-1)(4 – 3) = (-1)(1) = -1

3 – 4 =  (-1)(4 – 3) = (-1)(1) = -1
Same Signs Sum





Different Signs Take the Difference and Keep the Sign of the Bigger Number








